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Graphing Linear Systems (A)

Graph each system and identify its solution.

3r —4y = —16 2. 8r — 15y = —15
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Solution: (-___,___) Solution: (—___,___)

y=15 4. y=3r+4
dx — Ty = —49 y=3x+16
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Solution: (-___,___) Solution: (—_—_,-__)
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Graphing Linear Systems (A) Answers

Graph each system and identify its solution.

3r —4y = —16 2. 8r — 15y = —15
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Solution: (16,16) Solution: (15,9)

y=15 4. y=3r+4
dx — Ty = —49 y=3x+16
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Solution: (14,15) Solution: (3,17)
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Graphing Linear Systems (B)

Graph each system and identify its solution.

dr — 13y = —78 2. y=13
y:_llgx+18 120 — 17y = —17
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Solution: (-___,___) Solution: (—___,___)

z + 6y = 60 4. y=—Ilz+12
2z + 3y =39 r—y=—1
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Solution: (-___,___) Solution: (—_—_,-__)
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Graphing Linear Systems (B) Answers

Graph each system and identify its solution.

br — 13y = —78 2. y=13
y:_llgx+18 120 — 17y = —17
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Solution: (13,11) Solution: (17,13)

z + 6y = 60 4. y=—Ir+12
2x 4+ 3y =39 r—y=—1
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Solution: (6,9) Solution: (4,5)

Math-Drills.com




e e e e e e e e e ]
O N Wk OO N O O

O = N W A 00O N 0 ©

L e S N )
O N Wk OO N 0O O

O = N Wk N 0O

Graphing Linear Systems (C)

Graph each system and identify its solution.

1z + Ty = 119 + 19y — 247

[V
ow

un
©

[
9]

[
=

o
(=]

[N
ot

-
IS

-
w

[
»

[
[

=
(=}

o = N Wk OO 9 0 ©

01 2 3 45 6 7 8 91011121314 1516 17 18 19 20° 01 2 3 45 6 7 8 91011121314 1516 17 18 19 20°

Solution: (-_—_,___) Solution: (———_,-__)

y =12 4 y=—3x+18
_ 3
6x + 17y = 306 y=—52+15
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Solution: (-___,___) Solution: (—_—_,-__)
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Graphing Linear Systems (C) Answers

Graph each system and identify its solution.

y:—$x+12 9 yz}—éx%—l
11z 4+ 7y =119 x+ 19y = 247
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Solution: (7,6) Solution: (19,12)
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y =12 4 y=—3x+18
_ 3
6x + 17y = 306 y=—52+15
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Solution: (17,12) Solution: (14,12)
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Graphing Linear Systems (D)

Graph each system and identify its solution.

y=2x+3 9 y=—"r+12
y=2x+10 y=1
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Solution: (-_—_,___) Solution: (———_,-__)

Y= 167 4. y=—ga+17
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Solution: (____, ) Solution: (____, )
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Graphing Linear Systems (D) Answers

Graph each system and identify its solution.

y=2x+3 9 y=—"r+12
y=2x+10 y=1
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Solution: (6,15) Solution: (8,1)

o = N Wk OO 9 0 ©

Y =17 4. y=—pw+17
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Solution: (16,1) Solution: (17,9)
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Graphing Linear Systems (E)

Graph each system and identify its solution.

7o + 11y = 187 122 — 13y = —91
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Solution: (-_—_,___) Solution: (———_,-__)

r—dy = —12 4, y =37
5x — 8y =10 y==06
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Solution: (-___,___) Solution: (—_—_,-__)
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Graphing Linear Systems (E) Answers

Graph each system and identify its solution.

7o + 11y = 187 122 — 13y = —91
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Solution: (11,10) Solution: (13,19)

T —dy = —12 4 y =57
5x — 8y =10 y==06
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Solution: (8,5) Solution: (18,6)
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Graphing Linear Systems (F)

Graph each system and identify its solution.

11z — 3y = —12 2. y=2x+10
or — 3y = —30 y=z+6
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Solution: (-_—_,___) Solution: (———_,-__)

y=1iz 4, y=g7+6
y=—tr+4 y=—2z+12
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Solution: (____, ) Solution: (____, )
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Graphing Linear Systems (F) Answers

Graph each system and identify its solution.

11z — 3y = —12 2. y=2x+10
or — 3y = —30 y=z+6
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Solution: (3,15) Solution: (10,16)

y=1iz 4, y=g7+6
=—ta+4 y=—2z+12
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Solution: (12,3) Solution: (6,7)
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Graphing Linear Systems (G)

Graph each system and identify its solution.

3r+y=14 9 y=32x+4
x4+ 2y =18 T+ 2y =26
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Solution: (-_—_,___) Solution: (———_,-__)

y=—70+17 4 y =17
13z — Ty = —21 y=Tr+10
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Solution: (____, ) Solution: (____, )
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Graphing Linear Systems (G) Answers

Graph each system and identify its solution.

3r+y=14 9 y=32x+4
x4+ 2y =18 T+ 2y =26

[V
ow

un
©

[
9]

[
=

o
(=]

[N
ot

Jun
'S

\
\

—~
\
\

o = N Wk OO N @

\

01 2 3 45 6 7 8 91011121314 1516 17 18 19 20° 01 2 3 45 6 7 8 91011121314 1516 17 18 19 20°

Solution: (2,8) Solution: (10,8)

y=—70+17 4 y =17
13z — Ty = —21 y=Tr+10
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Solution: (7,16) Solution: (4,17)
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Graphing Linear Systems (H)

Graph each system and identify its solution.

r—y=20 2. 3z — by = —10
20 — Ty = =70 x + 15y = 180
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Solution: (-___,___) Solution: (—___,___)

y=3z+2 A z— 18y =0
y=11 172 + 18y = 324
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Solution: (-___,___) Solution: (—_—_,-__)
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Graphing Linear Systems (H) Answers

Graph each system and identify its solution.

r—y=20 2. 3z — by = —10
20 — Ty = =70 x + 15y = 180
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Solution: (14,14) Solution: (15,11)

y=3z+2 A z— 18y =0
y=11 172 + 18y = 324
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Solution: (6,11) Solution: (18,1)
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Graphing Linear Systems (1)

Graph each system and identify its solution.

9z + 13y = 130 2. y=—x+14
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Solution: (-___,___) Solution: (—___,___)

27 — by = —60 4. y=-2z+6
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Solution: (-___,___) Solution: (—_—_,-__)

Math-Drills.com




[ e S S )
© O = N W kA OO N 0 O O

O N Wk N ®©

L e S N )
© O F N W ke N 0O O

O = N Wk N ©

Graphing Linear Systems (I) Answers

Graph each system and identify its solution.

9z + 13y = 130 2. y=—x+14
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Solution: (13,1) Solution: (11,3)
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27 — by = —60 4. y=-2z+6
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Solution: (5,14) Solution: (2,1)
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Graphing Linear Systems (J)

Graph each system and identify its solution.

y=2x+12 9. y=z2x+9
_ - _ 5
132z — 17y = —68 y =T+ 12
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Solution: (-_—_,___) Solution: (———_,-__)

3r — 16y = —80 4. 3z + 4y = 56
b — 16y = —48 y=—1x+18

[V
Oow

[
©

Jun
oo

o
]

[
(=2}

Jun
(o))

[
'S

Jun
w

Jun
[

=
-

[
(=)

O H N W kA OO 9 0 ©

01 2 3 45 6 7 8 9 101112131415 16 17 18 19 20° 01 2 3 45 6 7 8 9 101112131415 16 17 18 19 207

Solution: (-___,___) Solution: (___—_,____)
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Graphing Linear Systems (J) Answers

Graph each system and identify its solution.

y=2x+12 9. y=z2x+9
_ - _ 5
132z — 17y = —68 y =T+ 12
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Solution: (17,17) Solution: (14,17)

3z — 16y = —80 4. 3z 4+ 4y = 56
b — 16y = —48 y=—1x+18
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Solution: (16,8) Solution: (4,11)
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